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QUESTION 1

An administrator in a company of 349 users has a pair of AOS-CX switches with connections to external networks. Both
switches are configured for OSPF. The administrator wants to import external routes on both switches, but assigns
different seed metrics to the routes, as well as imports them as external type-1 routes.

What is the best way for the administrator to accomplish this?

A. Create a route map with the correct route type and metrics

B. Define the route type and metrics in the OSPF process

C. Create a classifier policy with the correct route type and metrics

D. Define a class and policy map with the correct route type and metrics

Correct Answer: A

QUESTION 2

Examine the attached diagram Two AOS-CX switches are configured for VSX at the access layer, where servers
attached to them. An SVI interface is configured for VLAN 10 and serves as the default gateway for VLAN 10. The ISL
link between the switches fails, but the keepalive interface functions. Active gateway has been configured on the
switches.
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What is correct about access from the servers to the Core?

A. Server 2 can successfully access the core layer via the keepalive link.

B. Server 1 and Server 2 can communicate with each other via the core layer.
C. Server 2 cannot access the core layer.

D. Server 1 can access the core layer via both uplinks.

Correct Answer: B

QUESTION 3

An administrator of a large campus network needs a solution that will provide root cause analytics to quickly identify
problems so that they can quickly be fixed. Which AOS-CX switch feature should the administrator utilize to help with
root cause analytics?

A. NAE

B. VoQ

C. NetEdit
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D. VSX

Correct Answer: A

QUESTION 4

How does PIM build the IP multicast routing table to route traffic between a multicast source and one or more
receivers?

A. It uses the unicast routing table and reverse path forwarding (RPF)

B. It uses IGMP and calculates a shortest path tree (SPT)

C. It uses the shortest path first (SPF) algorithm derived from link state protocols

D. It uses the Bellman-Ford algorithm derived from distance vector protocols

Correct Answer: A

Explanation: "PIM also relies on the unicast routing tables to identify the path back to a multicast source. This routing

method is known as reverse path forwarding (RPF). The unicast routing protocols create the unicast routing tables. With
this information, PIM sets up the distribution tree for the multicast traffic.

QUESTION 5

When cutting and pasting configurations into NetEdit, which character is used to enter commands within the context of
the previous command?

A.

B.">"

C. Space
D. Tab

Correct Answer: D
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